
MDVP.Flo.Hz.
p < 0.001

1

≤ 147.226 > 147.226

DFA
p < 0.001

2

≤ 0.746 > 0.746

spread1
p = 0.033

3

≤ −6.73> −6.73

Node 4 (n = 15)

100
150
200
250

D2
p = 0.003

5

≤ 2.54> 2.54

Node 6 (n = 51)

100
150
200
250

Node 7 (n = 44)

100
150
200
250

MDVP.Flo.Hz.
p < 0.001

8

≤ 117.495 > 117.495

MDVP.Flo.Hz.
p < 0.001

9

≤ 95.628> 95.628

Node 10 (n = 11)

100
150
200
250

MDVP.Flo.Hz.
p = 0.001

11

≤ 107.316> 107.316

Node 12 (n = 14)

100
150
200
250

Node 13 (n = 14)

100
150
200
250

Node 14 (n = 7)

100
150
200
250

MDVP.Flo.Hz.
p < 0.001

15

≤ 199.02> 199.02

MDVP.Flo.Hz.
p = 0.049

16

≤ 177.584> 177.584

Node 17 (n = 17)

100
150
200
250

Node 18 (n = 10)

100
150
200
250

Node 19 (n = 12)

100
150
200
250


